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AREN 2110: Thermodynamics
Spring 2011

HOMEWORK 7: Due Monday, March 14, 6 PM (11 problems, 35 points possible)

1. (5 points, 1 point per part) 997 kJ heat is added to a rigid tank containing 3 kg water of
which 0.6 kg is vapor, at 150 kPa. The final pressure in the tank is 325 kPa.

a) What is the final temperature?
b) What is the mass of water in the vapor phase after heat addition to the rigid tank?

c) If one boundary were movable to obtain an isobaric process, what would the final
temperature be with the same heat addition?

d) What is the work done in the isobaric process?

e) Draw both processes on the T-v diagram below.
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